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QUESTION 1

Which three of the following entity stereotypes require the user to specify input parameters when modeling? [Select 3]
A. nkread

B. nkmodify

C. nkreadmulti

D. nsinsert

E. nsremove

F. readmulti

Correct Answer: DEF

QUESTION 2

Custom validations written in Java can be localized by using an external locale-specific properties file. Which of the
following are correct locale-specific properties files for such validations?

A. CustomValidationMessages_fr.properties.

B. Jp_CustomValidationMessages.properties.

C. CustomValidationMessages.properties_fr.

D. CustomValidationMessages_en_US.properties.
E. Sp_CustomValidationMessages.properties.

Correct Answer: AD

QUESTION 3

Review the following model:
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Based on the model shown above, which table(s) will exist following a build generated database?
A. EntityOne and EntityOneExtension

B. EntityOne only

C. EntityOneExtension only

D. The build will fail because extending an entity is not allowed

Correct Answer: B

QUESTION 4

Review the following diagram:
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After a build generated, which of the following assign methods is generated on StructA?

A. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute4; }

B. public StructA assign(StructB structB){ structA.attribute4 = structB.attribute5; }
C. public StructA assign(StructB structB){ structA.attributel = structB.attributel;
structA.attribute2 = structB.attribute?2;

structA.attribute3 = structB.attribute3;

}

D. public StructA assign(StructB structB){ structA.attributel = structB.attributel; structA.attribute2 = structB.attribute2;
structA.attribute3 = structB.attribute3; structA.attribute4 = structB.attribute5; }

Correct Answer: D

QUESTION 5

If process class MySubProcess is a subclass of MyProcess and the required implementation classes exist, which of the
following statements are true?

A. curam.intf.MySubProcess extends curam.intf.MyProcess
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B. curam.base.MySubProcess extends curam.impl.MyProcess

C. curam.base.MySubProcess extends curam.base.MyProcess

D. curam.fact. MySubProcessFactory extends curam.fact.MyProcessFactory
E. curam.impl.MySubProcess implements curam.base.MySubProcess

Correct Answer: AB
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